8sin® = —4sin? = —4sin = =
14 14 14
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Solution
The given expression = 8sin® Z —4sin £ —2x2sin? =
14 14 14
=4sin£(25in25—1)—2x(1—cos£j
14 14 7
. T 27 T
=—4sin—cos—+2c0s——2
14 14 7
.3t . 7 T
=—2(sm——sm—j+2cos——2
14 14 7
. T . 31 T
=2siIn——-2siIn—+2c0s——2
14 7

=2C0S r_x —2C0S 5—3—” +2cosz—2
2 14 2 14 7

=20053—7T—20052—7r+20051—2
7 7 7

=2cos£+20053—”+26055—7[—2
7 7 7

1 . T T . 3z . T S5r
=———| 25In—=C0S—+ 2SINn —C0S— + 2SINn —C0S— |—2

. T 7 7 7 7 7 7
sm7

1 .27 . 4r . 27 . 6w . 4rm
=———| sin— +Sin— —-SIn—+SiIh——-Sin— |-2
. T 7 7 7 7
Sin—
=L(sin6_”]_2:1—2:—1
. T
Sin
Hence, (B)
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